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@ ' Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuacio:
3,506 x 1000 = 1,156 x 10 =
3,748 x 10 = 4,15% 10 =
10,278 x 10 = 2,854 % 100 =
9,824 x 100 = 10, 79 x 1000 =
9,74 x 10 = 7,965 x 10 =
3,828 x 100 = 7,763 x 1000 =
10, 994 x 1000 = 2,13 %10 =
10, 827 x 100 = 2,698 x 100 =
6,509 x 10 = 3,045 x 10 =
9,959 x 10 = 1,018 x 100 =
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@ ' Multiplique decimais por 10.100.1000

Nome: Encontro: Data: Pontuagio:
3,506 x 1000 = 3506 1,156 x 10 = 11.56
3,748 x 10 = 37.48 4,15 x10=41.5
10,278 x 10 = 102.78 2,854 x 100 = 285.4
9,824 x 100 = 982.4 10,79 x 1000 = 10790
9,74 x10=974 7,965 x 10 = 79.65
3,828 x 100 = 382.8 7,763 x 1000 = 7763
10,994 x 1000 = 10994 2,13 x10=21.3
10, 827 x 100 = 1082.7 2,698 x 100 = 269.8
6,509 x 10 = 65.09 3,045 x 10 = 30.45
9,959 x 10 = 99.59 1,018 x 100 = 101.8
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